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~— <" Choice Questions: 50%

1. The person generally directly responsible for overseeing the tax management, cost

accounting, financial accounting, and information system functions is the:

a. treasurer,
b. director.
controller.

d. chairman of the board.

2. The person generally directly responsible for overseeing tlie cash and credit functions,
" financial planning, and capital expenditures is the:
a, treasurer.
b.  director.
¢.  controller.

d.  chairman of the board.

3. The process of planning and managing a firm's long-term investments s called:
a.  working capital management.
b.  financial depreciation.
c. agency cost analysis.

d. capital budgeting.

4. The mixture of debt and equity used by a firm to finance its operations is called:
a. working capital management,
b. financial depreciation.
cost analysis.

“d. capital structure.




The management of a firm’s short-term assets and liabilities is called:
a.  working capital management.
b.  debt management. ‘

equity management.

d. capital budgeting,

refers to the firm's dividend payments less any net new equity raised.
a.  Operating cash flow
b.  Capital spending

c.  Net working capital

d. Cash flow to stockholders

Earnings per share is equal to:

a.  net income divided by the total number of shares outstanding,
b.  netincome divided by the par value of the common stock.

C.  gross income multiplied by the par value of the common stock.

d. operating income divided by the par value of the common stock.

Dividends per share is equal to dividends paid;

a.  divided by the par value of common stock.

b. divided by the total number of shares outstanding.
c. divided by total shareholders’ equity.

d. multiplied by the par value of the common stock.

i\ %’t 7",3 3;1‘.1 Hi Ao I .
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9. Which of the following are included in currgnt liabilities?
I note payable to a supplier in eighteen months
II.  debt payable to a mortgage company in nine months
III. accounts payable to suppliers

IV. loan payable to the bank in fourteen months

a. Jand Il only

b. Iland Iif only

c. [landIV only

d. 1,1, and IV only

10.  An increase in tota| assets: _
a.  means that net working capital is also increasing,.
b.  requires an investment in fixed assets.
c.  means that shareholders’ equity must also increase.

d. must be offset by an equal increase in liabilities and shareholders’ equity.

11. You are considering two projects with the following cash flows: .

‘ Project A ProjectB
‘ Year | $2,500 34,000

Year 2 3,000 3,500
Year 3 3,500 3,000
Year 4 4,000 2,500

Which of the following statements are true concerning these two projects?

1. Both projects have the same future value at the end of year 4, given a positive rate

of return.




T T 7. ‘DBoth projects nave the same fullire Value given a zero rate of return.
111 - Both projects have the same future value at any point in time, given a positive rate
of return.

IV. Project A has a higher future value than project B, given a positive rate of return.

®

T only
IV only
[ and III only
d. 1IlandlV only

(=2

12. Which one of the following statements concerning interest rates is correct?
a.  The stated rate is the same as the effective annual rate.
b.  An effective annual rate is the rate that applies if interest were charged annually.
¢.  The annual percentage rate increases as the number of compounding periods per
year increases.

d. Banks prefer more frequent compounding on their.savings accounts.

13.  The rate at which a stock’s price is expected to appreciate (or depreciate) is called the

__ yield. ,
a, current '
b. total
c. dividend
d. capital gains

14. The primary goal of financial management is to:
a. maximize current dividends per share of the existing stock.
b. maximize the current value per share of the existing stock.

avoid financial distress.

o

d. minimize operational costs and maximize firm efficiency.
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15. All elsc constant, a coupon bond that is selllng at a premium, must have:
a.  acoupon rate that is equal to the yield to maturity.
b. amarket price that is less than par value.
c. semi-annual interest payments.

d. ayield to malurity that is less than the coupon rate.

16.  The newly issued bonds of the Wynslow Corp. offer a 6% coupon with semiannual
interest payments. The bonds are currently priced at par value. The effective annual
rate provided by these bonds must be:

a. equal to 3%.
b. - greater than 3% but less than 4%,
c. equal to 6%.
d. greater than 6% but iess than 7%.
17.  The total interest paid on a zero-coupon bond is equal to:
a.  zero.
b. the face value minus the issue price.
c. the face value minus the market price on the maturity date.

d.  $1,000 minus the face value.

18. The difference between! the present value of an investment and its cost is the:
a. et present value.
b. internal rate of return.
c.  payback period.'
d. profitability index.




15,

20.

21.

22,

T —

AR INVestiiche's average tet income divided by its avérage book value defines the
—-. .average: ~ e
a. net present value.
b. internal rate of return.
€. accounting return,
d.  profitability index.
If a project has a net present value equal to zero, then:
I the present value of the cash inflows exceeds the initial cost of the project,
. the project produces a rate of return that just equals the rate required to accept the
project. '
I the project is expected to produce only the minimally required cash inflows.
IV. any delay in receiving the projected cash inflows will cause the project to have a
negative net present value.
a, [land Il only , RS
/b, Tland1V only '
¢. 1 II,and IV only
d. 1L III, and IV only
The changes in a firm’s future cash flows that are a direct consequence of accepting a
project are called ____ cash flows.
a incremental‘
b.  stand-alone
c. after-tax
d.  net present value
The cash flows of a new project that come at the expense of a firm’s existing projects

are called:
salvage value expenses.

a
b, net working capital expenses.

c.  sunk costs, AOIKOAR R
d.  erosion costs. I dm P R ?E}Eiﬁéq;gﬂ
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23. The book value of an asset is primarily used to compute the!
annual depreciation tax shield.

a
b. amount of cash received from the sale of an asset.

124

amount of tax saved annually due to the depreciation expense.

d. amount of tax due on the sale of an asset.

24. The sales level that results in a project’s net present value exactly equaling zero is called
the  break-even.
a.  operational
b. leveraged
¢. accounting
d. present value
25.  Which one of the followi?ig is most likely a variable cost?
a. office rent
b.  property taxes
c.  property insurance

d. direct labor costs

=.. As’part of your analysis of debt 1ssued by Monticello Corpor:mon you are askcd W g‘
cvaluate two specxﬁc bond issues, shown in the table below

(207) o

Monticello Corporotion Bond Informotion

‘ 1
Bond A4 (callable) Bond B (noncnllable),§
Maturity 2013 2013 i
Coupon 11.50% 7.25%
Current price 125.75 100.00 {

Yield to maturity ‘ 7.70% : 7.25% o
o e ‘MQM-@“{ 5 . 7 . ' o ,: i ST e o ,""‘ i 2 I
' ~ " Coll date . 2007 —

Coll price - 105 . — .

Yield to coll 5.10% —_ '
Madified duration to call ‘ TS 300 —_

b. Usmg the mformauon' n;
the ylcld to: matunty for.th
e Descnbc the: shortcommg fia

‘ lyzmg bond‘A stnctly lo ca]l or o,matunty

A
AR
AN
A
A
AN




J0 . Historical data suggest the standard deviation of an all-equity strategy is-about 5.5% per
month, Suppose the risk-free rate is now: | % per month and market volatility is.at its

o 7 ) historical level. What would be a fair monthly fee toa perfect marKet timer, accordmg to
the Black-Scholes formula? e e : o R
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(50%) Multiple or Single choice questions: (5% for each question)

1. For a given confidence interval, a confidence level of 96% is
interpreted as:
a. 96% chance that the given interval includes the true value of the
population parameter )
b. Approximately 96 out of 100 such intervals would include the true
value of the population parameter
c. 4% chance that the given interval does not include the true value
of the population parameter
d. Both "a" and "c" are true
e. None of the above is correct
2.

'On a survey questionnaire, students were asked to indicate their
class rank in college. 1If there were only four choices from which to
choose, which measure(s) of central tendency would be appropriate to
use for the data generated by that questionnaire item?

Mean and median

Mean and mode

Mode and median

Mode oniy

Median only

®oQan o

3.
Fifteen accounting majors had an average grade of 90 on a finance
exam. Seven marketing majors averaged 85, while ten finance
majors averaged 93 on the same exam. What is the weighted mean
for the 32 students taking the exam?
a. 89.84
b. 89.33 A
c. 89.48
d. Impossible to determine without more information
‘e. None of the above
4.
Which of the following is not necessary to determine how large a
sample to select from a population? :
a. Level of confidence in estimating the population parameter
b. Size of the population
c. Maximum allowable error in estimating the population parameter
d. An estimate of the population variation
e. All of the above are necessary
5.

The coefficient of variation for.a set of annual incomes is 18%; the

coefficient of variation for the length of service with the company

is 29%. This indicates: :

a. More dispersion in the distribution of the incomes compared with

the dispersion of their length of service

b. More dispersion in the lengths of service compared with incomes

c. Dispersion in the two distributions (income and service) cannot be
: compared using percents

d. Dispersions are e 1 +H J1A R A K
e. None of the :bovequa %\ H/‘EE R & E R




B ALK 98 R F FAA L PA HNFHET B 2« v N -

q SEERFARAR

mogFEALy Fla- M4 BEAEIzR 198 4% 3 A 21 8 % 4 # 15:30-17:00

% B %3t %$([2632]

Cc.

Wnhich of the following measures of dispersion are based on
deviations from the mean?

a. Variance

b. Standard deviation

c. Average deviation

d.None :of the above

In hypothesis testing, the level of significance is:

a, The risk of rejecting the null h
ypothesis when it
- Symbolized by the Greek letter "a" en is true

b
c. A valge between 0 and 1
d. Selected before a decision rule can be formulated

-

Whl"h of »he follow1ng is not cmne of the five steps in the /
hypothesis testing procedure? J
a. Formulate a decision rule

b. State the null and alternative hypotheses

c. Select a level for B

d. Identify the test statistic

e. All of the above are part of the five steps

fr=-1.00, it can be said that:

. Dependent variable can be perfectly predicted by the 1ndependent
variable

. All of the variation in the dependent variable can be accounted

for by the independent variable

High values of one variable are associated with low values of the

other wvariable

d. Coefficient of nondetermination equals zero

10.

e. None of the above 1is correct

The Wilcoxon test differs from the Mann-Whitney test in:

a. Level of data that is required for the tests

b. No assumptions are required about the population

c. Wilcoxon Is for dependent samples; Mann-Whitney is for
independent samples '

d. Number of samples that can be compared

R b g;%za#lag
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5% 1. Why is the method used to test equality of three or more population means
referred to as analysis of "variance,” when means are the parameters of

interest?

10% 2. Some methods involve application of the chi-square distribution. Which of the
following properties of a chi-square distribution are true? Why or why not?
Explain your answers.

(a) Values of a chi-square test statistic are always positive or zero, but never
negative.

(b) A chi-square distribution is symmetric.

(c) There is a different chi-square distribution for each number of degrees of
freedom. _

(d) When using a chi-square distribution, the number of degrees of freedom is
always the sample size minus 1.

(e)When using a chi-square distribution, sample data need not be random if
the sample size is very large.

15% 3. The New York State Health Department reports a 10% rate of the HIV virus

for the "at-risk" population. In one region, an intensive education program
is used in an attempt to lower that 10% rate. After running the program, a
follow-up study of 150 at-risk individuals is conducted. A

(a) Assuming that the program has no effect, find the mean and standard
deviation for the number of HIV cases in groups of 150 at-risk people.

(b) Among the 150 people in the follow-up study, find the probability that
more that 10 people are tested positive for the HIV virus?

(c) Among the 150 people in the follow-up study, 8% (or 12 people) tested
positive for the HIV virus. If the program has no effect, is that rate

R)

3 F

unusually low? Does this result suggest that the program is effective? A R M K
- ' X @ &R

20% 4. Independent simple random samples, each of size 200, have been drawn, and
112 people in the first sample have the same common attribute, whereas 88
people in the second sample have the same common attribute.

(a) Construct a 95% confidence interval estimate of the difference pPi1 — P2
What does the result suggest about the equality of pyandp, 7

(b) Construct individual 95% confidence interval estimates for each of the two
population proportions. After comparing the overlap between the two
confidence intervals, what do you conclude about the equality of p; and
p2?
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(c) Use a 0.05 significance level to test the claim that the two population
proportions are equal. What do you conclude?

(d) Based on the preceding results, what should you conclude about equality
of pyand p; ? Which of the three preceding methods is least effective in
testing for equality of p; and p; ?
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a: 0.10 0.05 0.025 - 0.01 0,005
df = 1 3.078 6.314 12.706 31.82 63.657
2 1.886 2.920 4,303 6.965 9.925
3 1.638 2.353 3.182 4.541 5.841
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TABLE Critical Values of £ a=005
[ Fla, »). ») F

v, = df, numerator

v, = df,
d:nominatm 1 2 3 4 5 6 7 8 ] 10 12 15 20 24 30 40 60 120 ™

1 161.4  199.5 2157 2246 2302 2340 2368 2389 2405 2419 2439 2459 248.0 2491 250.1 251.1 2522 253.3 2543

2 1851 19.00 19.06 1925 1930 1933 1935 1937 1938 1940 19.41 1943 1945 1945 19.46 19.47 19.48 1949 1950
3 10,13 9.55 9.28 9.2 9.01 894 889 885 8B B79 BJ4 870 B66 864 B62 B85 857 855 853
4 7.n 694 659 639 626 636 609 604 600 59 59) 586 580 577 575 K572 569 566 563
5 6.61 579 541 5§19 505 495 488 482 477 474 468 462 456 453 450 446 443 440 436
6
7
8

599 534 476 453 4393 428 420 415 4.0 406 400 394 387 384 380 377 374 370 367
559 474 435 412 397 387 379 373 368 364 357 351 344 34 338 334 330 327 323
532 4.46 407 384 369 358 35 344 339 335 328 122 315 372 308 304 30! 297 293

9 5.12 4.26 3.86 3.63 3.48 3.37 3.29 3.23 3.8 3.14 3.07 3.0t 294 290 2.86 2.83 279 2.75 2n
10 4.96 4.10 wmn 3148 3.33 322 314 3.07  3.02 298 2.91 2.85 277 2.74 270 2,66 2.62 2.58 254
n 4.84 3.98 3.59 3.36 3.20 3.09 3.00 295 290 285 2.79 272 2,65 2.61 2.57 253 2.49 2.45 240
12 4,75 3.89 3.49 3.26 kA1 300 291 285 280 275 2.68 2.62 2.54 2.51 2.47 243 238 234 230
13 4.67 3.81 3.4{ 3.18 3.03 292 2.83 277 N 2,67 2,60 253 2.46 2.42 238 234 2,30 225 221
14 4.60 3.74 334 3.h 2.96 2.85 276 270 265 260 2.53 246 239 23% 231 w27 2.22 2,18 213
i5 454 368 329 306 29 279 271 264 259 254 248 240 233 229 225 220 216 21 207
16 4.49 3.63 3.24 30 285 2.74 2.66 259 254 2.49 2.42 235 228 2.24 2,19 215 21 2.06 201
17 4.45 3.59 3.20 2.96 2.8 270 2.61 2.55 249 2.45 2.38 2.3t 2.23 2.19 235 210 2.06 2.0 1.96
18 4.9 3.55 3.16 293 2.77 266 2.58 5 2.46 2.4t 2.34 2.27 2.19 218 2.4 206 202 197 1.92
15 4.38 3.52 3.3 290 274 2.63 254 2.48 242 238 2.31 2.23 2.16 PA 3 207 203 1.98 1.93 1.88
20 4,35 3.49 3.10 287, N 2.60 25 2.45 239 235 2.28 220 292 208 2.04 1.9 1.95 1.90 1.84 .,
7 432 347 307 284 268 257 243 242 237 232 225 238 210 205 2001 19 192 187 18} .
22 4.30 3.44 3.05 2.82 2.66 155 2.46 240 234 2.30 2.23 215 207 203 1.98 1.94 1.89 1.84 1.78
23 . 428 342 303 280 264 253 244 237 232 227 220 213 205 201 1.96 1.9 1.86 1.8} 1.76
24_ 4.26 3.40 3.01 278 262 51 242 236 230 225 2.8 2.1t 2.03 1.98 1.94 1.89 1.84 1.79 1.73
25 4.24 3.39 299 276 260 2.49 2.40 234 228 2.24 ° 2,16 2.09 2.00 1.96 1.92 1.87 1.82 177 17
26 4.23 337 298 274 289 247 239 232 227 222 215 207 1.99 1.95 1.90 185 1.80 175 1.69
27 4.21 3.35 296 273 257 246 237 2.3 225 2.20 213 206 1.97 1.93 188 1.84 179 173 1.67
28 4.20 3.34 295 21 2,56 245 236 229 224 2.19 212 204 196 1.9 187 1.82 1.77 LM 1.65
29 4.18 3.33 293 270 2.55 243 235 228 222 2.0 2.0 2.03 1.94 1.80 1.85 181 1.75 1.70 1.64
o0 4.17 3.32 292 269 2.53 242 233 227 22 2.6 2.09 200 1,93 1.89 1.84 .79 1.74 1.68 1.62
40 . 4.08 323 284 2.61 2.45 234 225 2.8 232 208 200 .92 184 1.79 1.74 1.68 1.64 1.5 151
&0 4.00 3.5 276 253 2.37 225 217 210 204 1.99 1.92 1.84 .75 1.70 1.65 1.59 1.53 1.47 1.39

120 3192 3.07 2.68 245 .29 217 209 2.02 196 1.9 .82 1.75 1.66 1.61 1.55 1.50 1.43 135% .25
w .84  3.00 260 237 2 210 200 1.94 188 1.83 1.75 1.67 157 1.52 146 139 132 1.22 .00
.
TABLE o= 0.025
B
0 Fla. v, w) F

v, = df, numerator
v,:df, ' . »
denominator 1 2 3 4 5 6 ? ) 1] 10 12 5 20 24 30 40 60 120 o
1 647.8 7995 B642 B99.6 921.8 937.1 948.2 9567 9633 968.6 9767 9849 9931 9972 1001 1006 1010 1014 1018
2 38.51 39.00 397 3925 3530 3933 39.36 3937 39.3% 39.40 3941 3943 3945 39.46 3946 39.47 3948 39.49 39.50
3 17.44 1604 1544 1510 14.88 1473 14.62 1454 1447 1442 1434 1425 14.17 1412 1408 1404 1399 1195 13.90
4 1222 1065 998 960 936 920 907 8.98 890 8.84 8.75 B66 856 8.5) B.46 8.4 836 831 8.26
5 10.01 8.43 7.76 739 7.15 698 685 G76 6.68 6.62 6.52 643 6.33 6.28 6.23 6.10 6.12 6.07 6.02
6
7
8
9

8.8 726 660 623 593 582 570 %60 552 546 537 527 517 512 507 500 49 490 485
807 654 S89 552 529 5.12 499 490 482 476 467 457 447 442 436 431 425 420 4.4
7.57 606 542 505 482 465 4.53 443 436 430 420 420 400 395 389 384 378 373 167
.21 s S0B 472 44B 432 420 410 403 396 387 377 367 3.6 356 3.5 3.45 339 333

10 694 546 483 447 424 407 3.95 385 378 172 362 352 342 337 131 326 330 314 108 . i
n 672 526 453 428 404 388 376 366 359 3.5 343 333 323 317 312 306 3.00 294 2.88 $L z;t ,‘;ﬁ s
12 655 510 447 432 3B9 173 161 35 344 337 328 318 307 302 295 29 285 279 272

1 6.41 497 435 400 377 360 348 339 331 325 315 305 295 289 284 278 272 266 2.60 Xi 117] E‘J ﬁ’}
14 630 486 424 389 166 350 338 329 321 345 308 295 264 279 273 267 261 255 249 4
15 620 477 415 380 358 341 3.29 320 312 306 296 286 276 270 264 259 2.52 246 2.40

1% 612 469 408 373 350 334 322 392 305 299 289 279 268 263 257 251 245 238 232

17 6.04 462 401 366 344 328 306 306 298 292 282 272 262 256 250 244 238 232 225

18 596 456 395 361 338 322 310 300 2393 287 277 267 25 250 244 238 232 226 2.19 )
13 592 451 390 356 333 307 305 29 288 282 272 262 251 245 239 233 227 220 213 .

20 587 446 386 151 329 313 301 291 284 277 268 257 246 241 235 229 222 216 209

2) 583 442 182 348 325 309 297 287 280 273 264 253 242 237 231 225 218 21 204

22 579 438 3178 344 322 305 293 284 276 270 260 250 239 233 227 221 214 208 200

23 _5375 435 375 341 318 302 290 28 273 267 257 247 236 230 224 218 211 204 197

24 572 432 372 338 315 299 L2687 278 270 264 254 244 233 227 220 215 208 201 194

25 . 569 429 365 335 313 297 285 275 264 260 251 241 230 224 218 242 205 198 191

26 666 427 367 333 110 294 282 273 265 259 249 239 228 222 216 209 203 195 1.88

27 561 424 365 131 108 .292 280 270 261 257 247 236 225 Z19 213 207 200 193 185

28 561 422 363 329 106 290 278 269 261 255 245 234 223 217 21 205 198 1.9 183

29 559 420 3.60 227 304 280 276 267 259 253 243 232 221 215 209 203 196 1.89 (.8

30 557 418 259 325 103 287 275 265 257 251 241 131 220 214 207 201 194 1.87 179

4 542 405 346 3.3 290 274 262 251 245 239 229 218 207 201 194 188 1.0 172 1.64

50 529 393 334 301 279 263 251 241 233 227 217 206 194 1.88 182 174 167 158 1.48

120 595 380 329 289 267 252 239 230 231 216 206 194 182 176 169 161 153 143 131 .

« 5.02 3..69 392 279 257 241 2.29 219 2. 205 194 183 1.1 1.64 1.57 148 139 127 100
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